4C Ratio tables >7

Complete the ratio tables below
Numerator Denominator

10 2

30 a

b 8

20 c
Numerator Denominator

27 a

9 il

18 2

b 23
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Name: Class: o
Ratio tables
Complete the ratio tables below. | | |
J __to get [a ] we’ll multiply 2 by 30 and divide by 10
Numerator Denominator , 10 = 130 az= 2x30 = 4§
10/ | z | | | 2 | ja| 10
30 | . a || - az6| |
b 8 follow same steps to solve b and ¢
20 & for[b], 0= b p-10x8-40
2 8 s

Since we know that the values are equivalent,

|| b=40 |
we can find the missing values for[c], 10 = 20 c¢= 20x2 =4
Use the complete ratio to find the other values 2 c | 10
10:2= 10 ot 4|
2

so, the complete table is

set1_g equal to any uncomplete ratio

10 |= 130 Numerator 'Denominator
2 a 710 | 2
30 6ﬂ
40 8
| | 20 4
Numerator Denominator
27| 33 |a || |
9 | 1 to get[a Jwe’ll multiply 11 by 27 and dived by 9
27 |b 33 n. a 19 -9
| | | | | I [ 1 | a=33
Since we know that the values are equivalent, solve the other expression|
we can find the missing values | forlE],, ||
Use the ratio thats complete to find the other values | | 19] = B bl 9X%X33
1 _ | 297
set 9 equal to any uncomplete to find ratio | M
1 9 - 27 | b=27
1 ‘ a

© http://mathskills4kids.com



	06.ratios-tables-01
	06.ratios-tables-02

